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1. (2022 « WiVLHZ » %k %) Cfla=2%5, b=47, ¢=25, N C )
(A) b<a<c (B) a<b<c (C) b<c<a (D) ec<a<b

EBHE: A

A

2 2 4

h=41 = (257 =27,

B f(x)=2"7ER L 7, Jﬁﬁufékf(?), MM 27 <25, fib<as

4 2 2 1 1 2 2

a=25=(2%)5 =45, ¢=25=(5")5=5%, R g(x)=x°

£ (0,+0) £/, Frlla<c, ﬁﬁl4§~<5§; Fiblb<a<c.

4
2. (2022 « {L7r AL, « Sk k) CHla=e—1, b=e5—§, c=4-— L moc
4 2In2
(A) b>c>a (B) a>c>b (C) e>b>a (D) ¢>a>b

EE: C
%%,

= C=4—L=eln4— . ; iﬁf(x)zex—l(ﬁ(:Zl), Ma=7Q1), bzf(i), c=f(In4),

2In2 In4 X 3
1

Hs;f'(x)=eux_2>o, FITEA f(x) 7E [1,400) £ /7,

ﬁj'ﬂg:lne-”, He’) =e*<64=4°, Frlle’ <4, U\ﬁﬁg<ln4, Eﬁlf(ln4)>f(g)>f(l), le>b>a.

3. (2023 « 2L « kokk) DAla=9In10, b=8mll, c=7In12, Wa, b, cIRNKFREN C )
(A) c<a<b (B) b<a<c (C) a<b<c (D) c¢<b<a

E%: D

A

a=(19-10)In10, b=(19-11)Inll, c¢=(19-12)In12,

W f(x)=19-x)Inx(10<x<12), Wa=£10), b=f11), c=f(12),



*%f’(x)z—lnx—l—l9_xzg—lnx—la l_—ElOSXSleH‘r B<2? 11?1x>2, Eﬁw\f’(X)<Or

X X X

MM £ (x)FE[10,12]1 LN, # £12) < FA1) < £(10), Fillc<b<a.

11 :

4. (2022 EHRHZ » %k k) a%uazﬁ, b=In2, c=e°, N C )
(A) c>a>b (B) a>c>bh (C) e¢>b>a (D) a>b>c
EBHE: A

AT - | a>1, 0<b<l, c>1, FrLLb s/,

1
P14 AL, e >1+x, H[HAVY x=0 B BE S, ﬁﬁuem>l+110:i(l), MiMe>a, We>a>hb.
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5. (2022'4}5'53%'****) E‘%ﬂazzy b:COSZ} C:4Sinza I)_J\IJ ( )
(A) c>b>a (B) b>a>c (C) a>b>c (D) a>c>b

a5x: A

AT -

a—bzl—%x(i)z—cos%, iﬁf(x):l—%xz—cosx(OSxig), M £'(x)=sinx—x> f"(x)=cosx—1<0,

FELA £(x) 1E [og]i\ , X £1(0)=0, FTLL £'(x)<0, MI f(x)1{E [o,g]ﬁ N, f(i)< £(0),

Eﬂl—%x(%)z—COS%<Or Filha-b<0, MIib>a;

. 2 . . 2
sinx_, . cos"x—(—smmx)sinx . 1-cos”x

‘iﬁg(x):tanx—x(OSxél), N g'(x) = (tanx)' —1=( ) —1= 5 1 —=20,
4 COS X COS”™ X COS™ X
1 | 1 1 1 1
D T — ’ — ’ E ity —— ’ —
FirbL g(x) 1 [0,4]J:/' U\ﬁﬁg(4)>g(0) Dtanﬂr 4>—O Eﬁ(tan4>4
|
tan —

ﬁﬁU\%= 14>»1, Mifie>b, Me>b>a.
4



6. (2021 « &FH 2% » dk*k*k) ¥a=2In1.01, b=1n1.02, c=1.04—1, N C )

(A) a<b<c (B) b<c<a LCJ) bea<e (D) c<a<b

ZE=: B

fiE A

a=2In1.01=1n1.01> =1n1.0201 >1n1.02 =5, FFLLIEIT A. D 45i%, MBES&EIE R FHEE o ¢,

a—c=2In1.01-y1.04 +1=2In(1+0.01) —1+4x0.01 +1, ¥ f(x)=2In(1+x)—1+4x+1, x<[0,0.01],

, 5 4 AV1+4x—(1+x)] . ’ 5
il == _ - y 0,0.0115F, (1 —(J1+4x) =x(x-2)<0,
)Jf(x) 1+ x 2\/1+4x (1+x)v1+4x vel : _JL (—HC) (\/ " X) x(x ) 0

FTPL (1+x)* <W1+4x)°, M l+x<Jl+4x, 8 f1(x)>0, HHAY x =0 BFEES,
FITLA £(x) 7£10,0.011 F .7, M £0.0D)> £(0)=0, #a-c>0, Frlla>c, #i%k B.




